Mixed Midterm Review 2013

What is the product of (2 + @) and (3 — b)?
A) 6+ab- b?

B: 6- ab

6= 2bt+3a— qb____
5+ ab+3a . "N
- (i)

G —Ab <~ 3o, — OLLQ

2)  The expression (y — 2)? is equivalent to
A) Y- 4y-4 C) Y +4y+4
B) y*-4 ) V- 4y+4
Cj“él\ﬁ\a “j—) = *98ﬁ Oul+'+
3)  The expression (2a +3b)%is eqmvalent to

A) 4a® + 6ab + 9p?

B))) 4a® + 12ab + 9b?
C) 4d®+ 12a%p? + 9b?
D) 4a2+9p*

(A3 )@MB\o) o N
Foob +44
4) If(2x - 3) and (x + 5) are nmultiplied to form the
ri omial ax? + bx + ¢, what is the value of b?
7 C) 4
B) 2 - | D) -15
(X3 K55 ) = 0% 3%~ 15
“ A4 FA—5
5)  What will be one of the factors when 4x* - 16 is
factored completely?
A) x*-4 C) x+1
Dy x=1

x2—2
APaa(?
4 (x1H)

"--..J

s

Pt =

- 81yt
(x +3y)(x - 3y)(x* + 9?)
(& +3y)x = 3p)A(x + %)
C) *%- A2 +9A)
D) (x+3y)x- 3'}’)(Jt + 3*)«‘)2

&

Factor completely: x*

X ~3v) ’)(+3 )(9 9\+Cf
7 When ﬁlctoredc letely x° = 9x 1s equivalent to
A) x(x- 3)
B) x+3)x-3) 3
C) x(x+3) /X *CML

W (x*-9)
K (H3)(Ax3 )

x(x +3)x - 3)

8)  What factor do the following trinomials have in
common?
2+6_x+9‘(7<+3)<x+3)
g o1 T A-6)(k3)
A) x-6 C) x+6
D) x-3

By

When factored completely, 3x% + 7x = 20 is
equivalent to .
(3x-5) %+4)

A) Bx+5x-4)
7/

B) (3x- 4)(x +5)
[9X

9)

Gx - 5)(x +4)
D) (3x +4)x - 5)

10) Factor: 5x + 10

5(A¥3-)



11) Factor: 17x%y- 34xy

&y xa (’)L“;)

12) Factor: - 16
Ug gt
13) Factor: 121 - x?
(‘\\“1)(—'\”’){)

14) Factor: x%- 2x- 3
(A-3)(x)
15) Factor: 3a®- 2ab- b?

(?mdrb) Coq-lo)

16) Factor completely: x> - 6x% - 7x
K- 6x )
- UQ i [Kﬂ
17) The solution set of the equation x? + 5x = 0 is

A {5 C) {5}
B) {0,-5} D) {0}

& e =0
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18)  The solution set of the equation x? - 2x — 15=01is
C) {3,-5}
D) {3,-5)

A) {3,5) .
{-3,5} g
cjub ——

19) What is the solutiori set to x> — 9=0?

= D) +3, only

(x-3)(x3) =

20) What is the solution set to 3x2 + 21x = 24?

A) 1,8 C) {81
B) {-4,2} {3}
3x+9tx ;H 0

3 (X +¥}\45L
( J(X*E }\ \\)
21) Whatlsﬂlesohltmnsetto 8x +16=07?

A) {-2,-8} C {2

B) {+4}
Lx H)(R+4) =0

22) Givenfix) =x - 2 and g(x) = 5x + 3, find the value
of'the following:

FH=1r-2=-\

¢ O 1-a
ﬁti

(fo H(1)

23) Ifflx)=3x+2and glx)=
the value of the followng:
(g0 H(8)

F@;) = S8yl =30




24)

25)

26)
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The accompanying graph is a sketch of the function y = f{x) over the nterval 0 = x = 7.
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=
W
]

A

£ fiwed

ol

What is the value of (fo )(6)?
A) 1 B) 2

C) 0 D) -2

floy=2 7 “t®=-3

3=x
Expressed as a fraction in lowest terms, &
x # 3, is equivalent to
A : C 1
) 74 /), A
1 TF N
B) 4 - D) ) \

.
x“-4
Expressed as a fraction in lowest terms, = &
x # 2, is equivalent to
x=2 X
A) 2 ) 5

o x2-x-2
27) Expressed as a fraction in lowest terms, 274,
x —

x = ;’32 iseglﬁvalentto

7 xﬁ -x -2
(P °
X

B) D)

(E<B)any
(D (3)

28) Which of the following expressions is in simplest

29) What is the coefficient of ab when
27a°b* - 9a°b - 3ab

e is expressed in simplest
form?
A) -9 C) -3
2 2 D)" 3
Aol Q Sab
—3a_ =20

= BaM 4 3k o i



<
s

-9
AMOK
x2- 4x- 12
Simplify: =
- 36
x-2

(x - 6)°
X2 D)

(ALY | |
(A- 2 XFD) AT

X2+ 10c+21 1
32)  Simplify: 2o " xt7

31)

4 .x—6

A)

B)

x2 + 14x + 49
Al T

(x? + 49)

. x+7

X
A) -

/("'ELA\ R

ol
B)

C)

W?)@S«’rg
[k~ 3)@&3) M?‘
33) Asa fractionin lowcst terms when b = 1, the
6 - 5b
b- 10

expression is equivalent to

CED

D) 3(b- 1)

1
A)

3
B)S

S

R0 91199‘ 3568 - 1 - Page 4

2x2+11x+5
2% +x

, (o8]
,x[_/y—H)

0y gy 3x+15

30’%5)

37) As a fraction in lowest terms when x = 2,0,-2,
expression 2 1_ y + xi: ) is equivalent to
-2
A e Y F=3
1 1
B S&+) D) ;
s & xS __L_
X)) X X (X+a)
38) As a fraction in lowest terms when x = 0 and
5 10x
w = 0, the expression ;o + ow 18 equivalent to
q x*w?
(vi) 0%
25%
B s1w? ( /l%é
I
mx) K "1
, 7x2y3 14x2y o Lf
39) Sl ony * 328
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2x- 14 x?- 49 [x-
40)  Simplify: 5% - 10 xxz_ 45) Express +2Jr )asasmgle fraction in
s:mplestfbrm.
a(’xv/{) @(&I’ha o v B .
+ - ‘e i
5(% Kt S W
At (%) 2 |
LRI
41)  What is the sum of’ . 0% ¥ 2.3
46) Combmcarﬂsmphfy _+§+_3th
A) 5 C) 4+
2 " Gt X0 YL /|334
B} x+4 CF = —
7 9
4(R) + X)X
- 47) C i implifiy:
X 3 W ) Combmomdsmply: 2% (x- 3)@+3J
42) Whatis the sumof(c = 5)+ 57 = . |
c- 2 fgﬁﬁ 34 aﬂf_a_
A cv2 © T2 ESISE)
B) ¢—3 D) c+2 48) Exp 5 ; tﬁ),l_(5x+3J x-1
ressed in simples
(i C*5)+E:—;—J C*-Gcrdcsafo+3 gl 7 -
(('_“h} ) ‘ ( g:hl A) ke
2 1 = C ;—3(3 X
43) Whatism+— x = -3,0, expressed a$a’s B) 9"2; 5 D) -
O+ —%+| - TX3T
©) 2%+3 2 K LK
3x+1 . = %Y Al
D) xzx e 49)  Expressed in simplest mﬁ%z xlz
xe g () _ axaXi3 i .
X Z+3) X)) X(X%3) ) e
6
7
44) Expressedmsmplestﬁ)ml,QC ergz'g ) x- 16
equivalent to 3 12
2~ 5 2_
A) 5 C) ¥ 1214 "'\L %K +Q\
8- 5 4x— 19
B) D) 2
3—U Y XIL ny-yg X“\l
G b | -




A%

50) Thee 1&%%?5265) ;+zslseqmvalerﬁto
Sa 5
A) a5 ©) a+s
e Hr;_s_‘\ 5a
e D) =3
Ga+30—0—=5 50,425

@ﬁ 5 (6=5)

(ov5)(a-5)

a—

51) Expressed in simplest form,

a—1

A)

B)

A
L5

52)  What is the quotient of =
x—2

&+

when expressed in

simplest form?

1
©) x-3)x-2)
x-3
12

A) (x+2)x+3)

D)

Ax - .
=xea) (35 3)

53) What is the positive root ofx in the equation

4 %+l
-1 12 ,x =17
T
B) 24
(x= ) X+1) =48 » 0=y
Xl"'l —qqg_o 'X.“':.b :(’
54) What1sthe sohxﬂonseto;‘cé+3 ?ﬁ-ﬁ./ _
A) {9 =
T 5x+30 —
3x = \§
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55)  Solve forx:_ch';I ",
o X4 )
v e N G g
X+D(X~ )=
56) Solve by factoring: Q‘L“‘ft@
‘e 6= )
g daer U o
(X=3 )AL 1 =0 _
A3 =
57) Solve by factoring: -
C—a“Q = QLQ+”L](
=30 _.
(C-4de~1 )~
58) SolveZx2x + e
L e.z,f_\_ 2 x22 Lbil-\« 95X = éj
4
N Ux'+5x—6 =0
B) 2
C) x=-%0rx=2 LQX“SIA“*&) =0
/ —
@ Yx-3= A2 =
=3
X —— o
4 A6l
X<2x 435 %
59) Solvex? - N
A) x=%orx=4 g‘i —la= 5/(
3 P=5%=13 =0

A3 A-Y) =
D) x=jorx=-4 JA+3=0 ’)&“”1/0

K :'-317\:+

3
C) X==,0rx= 4




60) What is the solution set of the equation

X 1 B 28 N
x-4 x+3 x2-x-12
{4,-6} C) {4}
B) {- D) {}

KOHB) — (x=4)
XT3 R— X +4 = g,g

1 1 1 X231 —24=0
61) iobeﬁrx —+6 5 L)(‘Hf’)z(fﬂ):%
\tﬁ\ : /(0 ')L) =[3X /n_é__)i G J?\
a vl AR
| @+ X =3X =
- 69)
62) Solve for x: 5+_—2 3
A-9 + 10 =3
KA =X
20=| 56X
X!
63) Solve for x ﬂﬁ)
KSLX‘\"E)

=
LX*3)C§;5) = {-—

oL+ \5- 3o a—
0= X3 —5X o -

9
64) Solve for x: —+— 12
x 2

Qx-a) + "!x =/
XO"&) Wil

;¢ Sl \%HC_,;L a;« L{&H\g,

Find the roots of the equa’a;:mx2 +8x +15=0.

@Grb fgg;g}_*@
i rsx

5) Find the roots of the equation 2x> = 13x — 15.

AH>— (3% 5D

Lx=3)(x =5)=0
5, X5

~

\

65)

67)

)fo
%

»
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What is the positive root of the equation
- 6c=27?

e = 'O
el (Db

WW

x2- 5x =147
yi-59 -\4=D
- -—#)@c@) =4

o

‘Which of the following sets represents a rel/af&m‘?

A) {2,4,6,8,...}

B) the set ofall rational numbers Celo bohwen
C) {student first names} 24 VCL'\AOM Lﬂ;

) a list that matches students to their he@

Which of'the following sets represents a function?
s i
A) (0,62, 43,62y T

xy) | x A2 =%
C) 1(:2,9), 44,1),/(3,1), (0,-2)} > -2)} >
e set of real numbers

Which of'the following sets is&‘ function?
A) {(G,1),(2,3), (1,1)}
{@G,1
C) {G.1),(3,2), 3,3
2), (1,2)}

\‘7‘-\*&% cond:

l (x3=F%+3) =

b (- )@ --3) =0

Lx-l =0 A-370

QX’?L%3>



72)

73)

Which graph doe?n_or%present a function?
Y,

Which graph illustrates a quadratic relation whose
domain is a/l real numbers?

Ya

A) e

D) x
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74) The effect of pH on the action of a certain enzyme is

shown on the accompanying graph.

:y.h

-9“

[

<

o

£

>

N

c

w

©

o

X
Elllllliillll';
012345 7 8 91011 1213

WA G TN
What is thé domain of this fanction?

A) {x|4=x=13

B) {y|yz0}

C) {x|x=z0}

D) [x|4sy=13)

75) The accompanying graph shows the heart rate, in
beats per minute, of a jogger during a 4-minute

mterval

minute)

-
o o =
o O O
.\}
™,

]

N
-
e

-.‘J
o

(3
N—s

eart Rate (beats per

w4

1 2 3 4

=
‘é‘“\/‘-ﬂ\éf Time (minutes)
What is ‘@M jogger's heart rate during
this mterval?

) 0 C) 1-4
B) 60-110 ) D) 0-110
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76) State the domain and range for the function shown | 78) State the domain and range for the function shown

below. below.
9
3 = U ) | .
f 7 PO [T
v “ . 5
54 535297 1 2 3 4 5 /Q‘Q)\\N'E’ i o . B
L, 7 JIN LY
r : Dy/4 Il 3 \\,
::; oy
¥ /—J -
- g e . S
CANOUA - — 5= MeD d(‘M\m_ @ —3L LR

Ramge = — 32 £ 3 (g =5 < 4

77)  State the domain and range for the finction shown | 79)  Iffix) = 4x - 6, what is the value Of%)?

below. N
C A) 2x- 6 C) 2x=3
b

7

5 ] -6 D) 6- 2x

: 4% 6 -

; 4 If 4th 4 u; a%hb

5 N3 2 -11 1 2 3/4 5 By Whe) =y en fl4a) is equal to
da- 1
N, A) Za+1

) B) a+t+1

5 a—1

Y
Ho—

dmw i/\Q ( %ﬁs) 81) Ifg(xl—;r_i&—htix+5,ﬁ1dmevahmofg(—2).
¥ S
a3 = 3()+5
g +6 +5
—5

I
OS5
|V
|
..



x2-6x+9
82) Ifflx)= 2_9 ° find the value of f{-2).
A) 2 C) -5
B) 42 ) ~%
CN -6 _ a5
()1 =3
83) Ifflx)=3x- 1 and g(x)=4x + 3, what does
g(fix)) equal? o~
A) 12x+8— oo £33 —])
F‘C)_rzx + 13x—:3 \/—‘/
D) 12x2+5x- 3
H(3x—1) +3
\ &L — K43
i as—]
84) Iffix)=2x+1 and g(x) =E(x = 1), what does
flg(-4)) equal?
| 1
A) 1 Q
I S
q(4) = =
= -5
oL
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85) Ifg(x)=+/x and h(x)=x3- 1, then g(h(4)) equals

A) 5 C) 7
B) /63 D) J11

V= (01263 [ 50) =&

336) Iffix) =x - 3 and g(x) = x°, then f{g(3)) equals

A) 30
B) 0

m
-

b B =az £lar)= ;H 3

87) Ifflx)=2x and gx) =x - 4, thsnf(g(3))equa]s

A) 6 &
C‘%) 3-

/

F) = (=)
b |




